COMBAT RULES





STEP 1: DETERMINING ACTION


This is the step where the players tell the DM what he will do during this round. This is where the player will choose a weapon and choose which opponent to attack





(i.e.: Domtar chooses to attack the ugly goblin with his long sword)








STEP 2: INITIATIVE ROLL


The initiative roll determines the order in which the opponents will attack. Each player rolls a 10-sided die, and adds the result of the roll to the chosen weapon's (see Step 1) speed factor. This will determine the initiative score. Then, the smallest number attacks first and the bigger attacks last.





(i.e.: Domtar rolls a 2. His long sword has a speed factor of 5. 5+2=8. Domtar has an initiative score of 11. his companions obtain 9, 11 and 14. Domtar will attack first.)








STEP 3: TO HIT ROLL


The to hit roll determines wheter or not you hit your enemy. You must substract the result of a 20-sided die from your THAC0 score to determine the to hit roll. The result of this will tell you what Armor Class (A.C.) you can touch. If your result is higher than your opponent's A.C., you do not touch him, if it is lower, you hit him. THAC0 is modified by strenght (see table 1 below)





(i.e.: Domtar, a 3rd level fighter with a strenght score of 16, has a THAC0 (see table 2 bellow) of 18. He rolls a 10 on his D20. 18-10=8. He can hit someone with an A.C. of 8. His opponent, a goblin, has an A.C. of 9, so he hits him.)








STEP 4: DAMAGE ROLL


The chosen weapon should have a damage rate. If your opponent is of small or normal size (7' or less), use the first number, and if it is large (8' and over), use the second number. Roll that number, and add the stenght modifier (see table 1 bellow) to it to determine the ammount of damage inflicted to your ennemy.


	


(i.e: Domtar attacks the goblins with his long sword, which has a damage rate of 1D6 against small/medium creatures and 1D8 against large creature. The goblin being of medium size (5'), he attacks him usin 1D6. His strenght score of 16 provides him a +1 bonus to damage. Domtar rolls a 5, which, added to his strenght bonus, makes 6. He dealts the goblin 6 points of damage.)








Now, do the other same steps with the other characters, and once everyone has attacked, start back at Step 1.








TABLE 1: STRENGHT MODIFIERS





ability score             THAC0 adjustment               Damage adjustment


1				-5				-4


2				-3				-2


3				-3				-1


4-5				-2				-1


6-7				-1				None


8-9				Normal				None


10-11				Normal				None


12-13				Normal				None


14-15				Normal				None


16				Normal				+1


17				+1				+1


18				+1				+2


18/01-50%			+1				+3


18/51-75%			+2				+3


18/76-90%			+2				+4


18/91-99%			+2				+5


18/100% (18/00)			+3				+6


19				+3				+7


20				+3				+8


21				+4				+9


22				+4				+10


23				+5				+11


24				+6				+12


25				+7				+14








TABLE 2: THAC0





GROUPS		Improvement rate (points/level)


Priest			2/3


Rogues			1/2


Warriors		1/1


Wizards			1/3


